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07/03/25 sas2igrt60822_35.ppp_defaut+287d−15_X−stp

1 Following steps removed:

60822.61806 : Step 1 −100 ns

2

60822.73958 : Step 2 −129100 ns

3

60822.89236 : Step 3 129100 ns

4

60823.32813 : Step 4 −129000 ns

5

60823.50347 : Step 5 129100 ns

6

60823.93056 : Step 6 −129100 ns

7

60824.04340 : Step 7 129000 ns

8

60824.52951 : Step 8 −129000 ns

9

60824.64063 : Step 9 129100 ns

10

60825.13194 : Step 10 −129100 ns
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646 s: Mdev= 0.17422E−10 Tdev= 6496 ps
1292 s: Mdev= 0.87916E−11 Tdev= 6556 ps
2583 s: Mdev= 0.61143E−11 Tdev= 9120 ps
5167 s: Mdev= 0.49702E−11 Tdev= 14826 ps
10333 s: Mdev= 0.36425E−11 Tdev= 21731 ps
20667 s: Mdev= 0.29999E−11 Tdev= 35795 ps
41334 s: Mdev= 0.25639E−11 Tdev= 61184 ps
82668 s: Mdev= 0.14968E−11 Tdev= 71440 ps
165336 s: Mdev= 0.10687E−11 Tdev= 102020 ps
330672 s: Mdev= 0.59294E−12 Tdev= 113200 ps
661344 s: Mdev= 0.15755E−12 Tdev= 60157 ps
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